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Al TREOBHOEIEHDKRES TREOHBEIEADKRES TREOBHOESEHDKRES TREOHBESSIEADKRES
B5 X 4 ‘e | MWD LOERE | ADKES X 4 TALOKF [ B | AOKES N Be | LmOLOES | NOREE X 4 IRACOES [ & | hORES
(m) (m) (kN/m) EEHE(m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
: 100kN/mM%Z#B 2 % - -~ - —|3mZiEZ D -~ - - — | 100kN/MZ#EZ % - -~ - —|3mZE#B2D -~ - - -
Zhllis 1.00 (| 0.00 ~ 652 8212 | #xkist | 000 ~ 000 | 1.58 797 zhlis 1.00 | 500 ~ 857 8212 | #hLklst | 500 ~ 857 | 1.58 797
) 100kN/M%Z#B % % - -~ - —|3mZEZD -~ - - —| 100kN/mM%E#EZ % - -~ - —|3mZE#E 2D -~ — - -
Zh st 1.00| 000 ~ 597 7483 | Fhllst | 000 ~ 000 | 1.58 7.97 FnLs 1.00] 500 ~ 7.40 7483 | FHllst | 500 ~ 7.40 | 1.58 7.97
3 100kN/mMZ#2Z % - - ~ - —[3mEHEZS - ~ — - — | 100kN/ MZ#BZ % - -~ — —|3mE#EZ2 -~ - - .
ZhLs 1.00| 000 ~ 640 80.47 | =hubuist | 000 ~ 0.00| 1.61 8.13 ZhList 1.00] 500 ~ 8.00 8047 | =hList | 500 ~ 800 | 1.61 8.13
4 100kN/M%ZH#EZ % - -~ — —|3mZEEZS -~ — — — | 100kN/ M%#8% % - -~ — —|3mE#EZS -~ — — —
Zh s 1.00( 0.00 ~ 761 9743 | #hlist | 000 ~ 761 | 2.06 10.43 ZFhLis 1.00 | 5.00 ~ 10.40 9743 | Fhllst | 5.00 ~ 1040 | 2.06 10.43
5 100kN/mM%Z#B % % - -~ - —|3mZiEZ2 D -~ - - —| 100kN/mM%Ei#BZ % - -~ - —|3mZE#BZD -~ - - -
ZhLst 1.00| 000 ~ 535 66.68 | #hkist | 000 ~ 000 | 1.74 8.81 ZhLst 1.00] 500 ~ 5.80 66.68 | THaLst | 500 ~ 580 | 1.74 8.81
6 100kN/mMZ#8 %% - - ~ - —[3mE#EZS - ~ - - — | 100kN/ MZ#BZ % — -~ - —|3mEHEZS -~ - - .
Zhs 1.00| 000 ~ 473 58.90 | ##list | 000 ~ 473 | 1.80 9.12 Zhlis 1.00] 500 ~ 5.00 5890 | =xlist | 500 ~ 5.00 | 1.80 9.12
100kN/M%ZH#E2 % ~ ImEHEAS ~ 100kN/mM%Z#BZ % ~ 3mEEZD ~
Zh st ~ Fhiist ~ FhLst ~ zhList ~
100kN/M%Z#B % % ~ ImEHEZD ~ 100kN/mM%Z#BZ % ~ 3mEHEZD ~
Zhiist ~ Zhiis ~ Zhrist ~ Fhilst ~
100kN/mMZ#2 %% ~ ImEHREZD ~ 100kN/mMZ#2Z % ~ 3ImEBAD ~
Zhiist ~ Zhiisn ~ Zhilst ~ Fhlist ~
100kN/M%Z#E 2 % ~ 3ImEHEAD ~ 100kN/mMiZ#8Z% % ~ ImERZD ~
ZhList ~ Zhilsn ~ ZhList ~ Zh Lot ~
100kN/M%Z#BZ % ~ 3mEHZD ~ 100kN/M%ZH#BZ % ~ 3mZHBAD ~
ZhiList ~ Fhiis ~ ZhList ~ zhhist ~
100kN/mMZ#8 %% ~ ImEFHEZD ~ 100kN/mM%Z#2Z % ~ 3ImEEAD ~
Zhiist ~ Fhiisn ~ ZhLst ~ Fhlist ~
100kN/M%Z#E 2 % ~ 3ImEHEZD ~ 100kN/mM%Z#BZ % ~ ImERZD ~
Zhis ~ Zhiist ~ Zhlis ~ ZThLlsh ~
100kN/mM%Z#B 2 % ~ 3mEHZD ~ 100kN/mM%Zi#BZ 5 ~ 3mZHBRD ~
ZhiLust ~ Fhiis ~ Zhrst ~ Zhkist ~
100kN/mM%Z# %% ~ ImEHEZD ~ 100kN/mMZ#2Z.% ~ 3ImEEZD ~
Zh st ~ Zhiisn ~ Zhilst ~ zThList ~ |
EFR



